Question: -

Internal bisector of ZA of AABC meets side BC at D.
A line drawn through D perpendicular to AD
intersects the side AC at K and side ABat F. If a, b, ¢
represent sides of A ABC, then (2006, 5M)

(a) AE i1s HM of b and ¢ (b) AD = 2bc cosé

b+ e >

dbe sin i (d) AAEF is isosceles

b+ c 2

(c) EF =

Solution: -
Since, AABC = AABD + AACD
= —bcsmA:—cADsm£+ bADsmg

F
= AD = 2be cosé
b+e 2
Again, AE=ADsec£= 2be
2 b+e

= AF is HM of b and e
EF:ED+DF=2DE=2ADtan§

2be A A 4be . A
cos — tan — = sin —
b+c 2 2 b+ec 2

Since, AD 1 EF and DE = DF and AD is bisector.
= AAEFEF is isosceles.

=2

Hence, (a), (b), (¢), (d) are correct answers.



